MATH 9 Chapter 7 Review

drawing size

Write neatly please and show all your work. Remember: scale = _
actual size

LEARNING OUTCOME: CONTENT AND CALCULATIONS

Determine the scale factor of the following shapes, with the object on the left and its image on
the right. Use the measurement of one of the sides in your calculations. Indicate the
measurements used.

a) = \‘P- -1

object @ & image @ @

b)
object image @

Which shape in question number 1is a REDUCTION? How do you know?

b> EQ(WMQ Scale @cﬁv < [

Use the grid provided to enlarge the letter K by a factor of 3.

K
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4.

5.

6.

Complete the table.
Object Length Image Length Scale Factor
—
12'm 8m ¥/12= 046
14 cm 500 cm /(4 =357
8in 20 1 25
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The scale diagram of a basketball court uses a scale of 1:280. The length of the court

5

measures 10 cm in the diagram
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~= 250 X (0= 2400 Cm

Whgr is the actual length of the court, in metres?

The actual distance of the Trans Canada Highway is 7871 km. What is the distance, to
the nearest tenth of a centimetre on a map with a scale of 1 cm : 60 km?
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7. The wheelbase of a car is the distance between the front and back axles. Determine
the actual wheelbase of the car in this scale drawing.

2.7
| €29 g 2
@ \__—/7/7< — l 29cm
x2.9

= COX 2.7
= [d5im

Scale 1:50

8.  In the similar triangles below, solve for the missing side.

£
> 3
3cm 6072 Cm _é,'L-:
6 cm
4 cm L é k_/ﬁ%

7.5 cm

<[-3
C [ A= gson
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LEARNING OUTCOME: REASONING AND ANALYZING

9.  Using the map below, estimate the driving distance between Fort McMurray and Calgary. After

finding your estimate, do you think your estimate is smaller or larger than the actual distance
between the two cities. Explain.
NORTHWEST TERRITORIES / TERRITOIRES DU NORD-OUEST
W T
5
= &
12 A

Y Fo \'}\‘@ b
Chip "&?

0
C/alre K

i
-
< O
N 5z
=z

3 2

= >

e = ™

=5 z

ZB=1 ]

= o

- = -

) =

=Bt -

S >

S
e onnvvile Z

LEGEND / LEGENDE

Provincial capital /
Capitale provinciale

e Other populated places / C ‘
Autres lieux habités N

o, Trans-Canada Highway / =,

La Transcanadienne CR
Major road / '3\0
Route principale

— . — International boundary /
Frontiére internationale

— .. _ Provincial boundary /
Limite provinciale

o

Scale / Echelle , a7 Wé
9 7|5 1?0 2?5'“ her- j‘ Milk River
\"" 13K/ OEardston - .

@ 2004. Her Majesty the Queen in Right of Canada, Natural Resources Canada. USA/EUdA
Sa Majesté la Reine du chef du Canada, Ressources naturelles Canada,
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LEARNING OUTCOME: UNDERSTANDING AND SOLVING

10. An observer stands 18 m from the door of a house, and 2.6 m from the street. The observer is 1.3 m
tall. Calculate the height of the house.

2.4

LEARNING OUTCOME: COMMUNICATING AND REPRESENTING

11.  There are two triangles in this picture. Name them and then determine if the two triangles are
similar. Justify your answer.
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12.  Which pentagon is similar to the shaded pentagon? Justify your answer.

1.5¢cm
3.0cm
2.5cm .
L - 1.0 cm
3.5¢cm
2.25¢cm
5.25 cm 3.0cm 1.35¢cm _+
* 2.70cm
3.75 ¢cm Y , 2.25 cm 7
150 cm = 40.90 \cy
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LEARNING OUTCOME: CONNECTING AND REFLECTING

13.  The local hotel is renovating its main conference room and both meeting rooms. They want the
main conference room to have hardwood flooring and the meeting rooms to be carpet. The cost

of carpet is $25 per square metre and the cost of hardwood flooring is $30 per square metre —
The budget for the materials if $20,000. Is this enough money for the project? Note: The

scale for the diagram is 1 cm = 12 m. Show all calculations and explain.

—— DQ'('QWM«W_ He olmengions
;LIL“— | and Wanjuve out +the areq

SFE = | Aa x $/w G bsth

| = ‘

- rosms  Aold Fhew %jel"z&\/

ard See TF S fesg Fhan
< 20,000 .

=

m9 ch 7 PRACTICE col NC alt key Page 6 of 6



